® Quadsaties . (861 —63)
. &mdm—h‘u, oA bb&‘l' studied i Ahe Qm ye
]Qx)—_a(»ub)l +C = 0-)&2 -ZQBY +(al3L +c) ; @ #o,

o Stationowy gt 0 {lx) = 20x-2ab = aly-b)=o

5 x=b s e Statfon sy et fh) = ¢

Stwond deriwtve  tuat .  £ly) = 20a
=7(X—- \o>?$ a IOCav{ M\ .‘](‘ 0 >o 44— Vertex
4= é ‘
7y [OCJ max ot < O

. G(rof\/\ e‘e -th) = a(x—t))l +C -

N \/ a>0 5/‘ a<(Q

cCT c T /’\

L ? [ L \ 7,(

* Owe com datormag a %uaa‘mh‘( -PLMA(*\*N \0;““4 M Py on H’ .
(or vertex + o potut )

. bod e guedmtic Gt g dhogh vt (C1H) el (10)
g:;\‘v. hssuneg.  the guaclm fe 'l[l'AMcf‘t(h 3
iy ax-b) +c

X\

0

slVertes . (b,e) = (-1,-4) , fie) - alx+1)" -4

-X=\,~F( \)—-L(fDL-L{'CO 2 a =\,

So fiy = ey - ]
X|,Xl

I e bwow tiro Zu-o_g/‘m,.,? L p\/»f ), WM Com VEM? sza&‘% faory blea

Gt cs o F00) wwst be  A0X-%) (x-3a)

b Fnd e radeatic Yot goos %71, (-1,0) (3,0) amed (o-6),

§/QL°‘ -?(X) = a(x+) (x-3) .

c Xzo, Fe)= 03 =-4 , so a =2

¢, Loy = 2 (xe) (x=3). A




- A %Mo‘rah‘c w.w7 hane O, | or & <eros., 'pw ‘F‘X):Axl'fﬁ)( tC
o Detewminant < B —UAC .

* Jetewiuant > ©  : two disthuct  zpog
* Detrmtvant = © 1w zero
* Defermmant <O . No  weroc,

B . E"F["‘M ”J“a __FIX) = lox™ + 5x +] s wL.m‘.); posrhwe .

Sl Petermant = ¥ - 4(l00)(]) = 20 - hoo =-3}C <o

So -? X)  has wo zero {m ic  either ales Postle o1 alwa75 Mtfa+a\/v<.
Bt  £0) = |50 5o Fx) o abw]g pocitive . L@Z,
® Cdiee (S011)
The cibics e of do R .
fon = A «Bx* +Cx +D. A#o

’ S{a\'?ovmﬂ\a F'M'B ‘ —FI(X) = 3Ax* + 2Bx+C ~o |
e -C‘ ‘V\a»’ l'\DM{ o, l, or

@‘Fl hat  no zer . s A e afwsz L\Mmﬁ,\wgf

Mlection  ou  [—co., o).
or
or \

& Zerog

. He S‘faﬁi)uo«a Po,\,._l- Bt w{so a

poiwt f( o‘\&[& Retione .



®'F' hot  two  Tewos . s e s a Proh«(' 7‘0 M{Lﬂ;}%/
ns Hue wdollmm-[- “’F ‘o
r S fah‘wowa povints,

B Pt fog= £x® -axtesx £
Gt | © Statiwawy poats . f00 = X —bx 43 =(x—1)(x-3) =0

x = | & x=3 %K Dl
flo = x*—ux+4y -1 = (x-2)* =
( ;
/\C“3='3‘-2+3+1——'33, & local wmaX ' 2 5 °m'{""\1

=3, -P(}):3(3\ -7,(3) + 3 4 [ocad miv
= Q—l%+ﬁ te =2

@ LV“Q‘“—‘—’(M ?aﬁr\‘ts.‘

o = 2x <% =0 dew  wed
'CD»\ = %Lg -L(’L)l_l, b +1\L -;% __/g/_‘_}/_:

{9

(wlop

X\

e B ¢ wet ﬁmrmwe,& uL  Cam o.,lww]s write dwn  the Zervg 9\0 a

‘)})‘*MQ““’VTL Runction . me  fon ot +o quesy o 2w, o Hiom  factorise
Fwd HLL wros 5{2 "F(x] = x3-21x =20 . Pbt Fory .

S'o\“ﬂ{‘ ) = O cf ) 0 20 S0 (x=(D) =lxel) st be « Fuctor

Lt  x3 2x-20 = [(xt)(ax+bx+c) = ax5+@+b)xl'+(£+c)x +C
= ¥ <0 =-2IX 0
:) a—.—([ b:——l, C=-20, go 'P(.K') 6(1")()( - X - 2_0) /@ @
8
bt x-x=20 =o ) x*-x *TIF = (X"S—) ""—CF[ / = 3_2 for@

..T‘M'EQ reets PF ‘P: Xx=-1, x=§, x:—(f.



= - S‘t“{"\“w*& poets flog = 3x™—2 =0, x :ﬁ-_
'F“(x) = 6X
eyzr—_‘,.yl“z‘w.(‘”(x\: bF S0 9 (ocd  mim
=Tz . flo=-bR<o > load max.
.L,:ga-hw ot ‘F“[K)Zé)(:ﬂ  x=.0
: M‘m] hehatewr  © = X> 21X -20
f hs ¥ o0, xulwnge fn = (0”‘)!23 e :larc]e. , ww-ﬁx = oo
As  x>-e0, y= ~\owge 'F“‘\'—(-[be)% SN ow7< , k—)w'("(x)--ao




